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$� .HVLPSXODQ

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� GDQ� SHQJHPEDQJDQ� \DQJ� WHODK� GLODNXNDQ��

GLSHUROHK�NHVLPSXODQ�VHEDJDL�EHULNXW�

�� 'DODP� SURVHV� 3HQJHPEDQJDQ� %DKDQ� $MDU� (�0RGXO� %HUEDQWXDQ� 6LJLO�

6RIWZDUH�3DGD�0DWHUL�0HQJJDPEDU�7HNQLN�60.�6ZDVWD�%DQGXQJ���PHWRGH�

SHQHOLWLDQ� \DQJ� WHSDW� XQWXN� GLJXQDNDQ� LDODK� $'',(� GLNDUHQDNDQ� GLGDODP�

$'',(� WHUGDSDW� WDKDSDQ� 'HYORSPHQW� DWDX� SHQJHPEDQJDQ� \DQJ� PDQD� LQL�

VDQJDW�FRFRN�XQWXN��PHPEDQWX�GDODP�SHQ\DMLDQ�GLGDODP�PHGLD�

�� +DVLO�DQDOLVLV�OHPEDU�YDOLGDVL�PHGLD�SHPEHODMDUDQ�JDPEDU�WHNQLN�EHUEDQWXDQ�

VLJLO�VRIWZDUH�\DQJ�GLQLODL�ROHK�NHWLJD�YDOLGDWRU�GHQJDQ�QLODL�YDOLGLWDV�VHEHVDU�

�����WHUJRORQJ�SDGD�NDWHJRUL�YDOLGLWDV�WLQJJL�GDQ�OD\DN�GLJXQDNDQ��

%� 6DUDQ

%HUGDVDUNDQ� NHVLPSXODQ� GDQ� LPSOLNDVL� KDVLO� SHQHOLWLDQ�� EHULNXW� LQL� GLDMXNDQ�

EHEHUDSD�VDUDQ���

�� 'LKDUDSNDQ� SURJUDP� SHQJHPEDQJDQ� LQL� ELVD� PHQMDGL� SURJUDP� VHNRODK�

VHKLQJJD� PHPXQJNLQNDQ� JXUX� XQWXN� PHQJHPEDQJNDQ� PHGLD� SHPEHODMDUDQ�

SDGD�NRPSHWHQVL�GDVDU�\DQJ�ODLQ�

�� 8QWXN� SHQJHPEDQJ� EHULNXWQ\D� DJDU� OHELK� NUHDWLI� VHUWD� PHQHPXNDQ� LGH�LGH�

EDUX� GDODP� SHPEXDWDQ� PHGLD� SHPEHODMDUDQ�� VHKLQJJD� PHQLPEXONDQ� PLQDW�

EHODMDU� VLVZD� SDGD� PDWD� SHODMDUDQ� \DQJ� ODLQ� GDQ� DNDQ� GDSDW� PHQLQJNDWNDQ�

KDVLO�EHODMDU�VLVZD�\DQJ�RSWLPDO�


